


Freedom Watch Installation Guide 

�I Kit Components 

ENTERTAINMENT MOUNT 

• 
TRACK MOUNT 

'' 

'''' 

SLOT MOUNT 

!'I MTI 

SECURITY POST 

Add optional rubber strips to bracket 
for smaller watch models. Some kits 
may not include rubber strips 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C 



Freedom Watch Installation Guide (Track Mount) l'I MTI 

Step-by-Step Instructions: 

STEP 01 

Baseplate next to bottom side of riser post. 

STEP 03 

Attach track adapter to underside of baseplate 
with notch in adapter facing towards the cable 
routing channel in the post.

STEP 02 

Attach baseplate to riser with four M4 screws 
with MTI Retail tool. Be sure screws are tight. 

STEP 04 

Install watch inductive charger into riser. Start by 
inserting through hole in back of riser. 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C 

* For merchandising a new watch with new brackets
on an existing position, start at Step 4.



Freedom Watch Installation Guide �I MTI 

Step-by-Step Instructions: 

STEP 05 

Feed Inductive charger through one side of the 
cross bracket. Do not remove liner from VHB pad. 
Charger will float underneath the watch. 

STEP 07 

Install watch brackets. They will interlock with 
each other. Route the cable upwards, keeping it 
between the two brackets. 

STEP 09 

Look inside the riser and ensure cable is routed 
away from right-side screw hole to prevent cable 
damage when screw is inserted.

STEP 06 

Connect charging cable in correct orientation to 
watch. 

STEP 08 
Install bracketed watch onto the stand and use 
the MTI tool to fasten the left-side screw. 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C 



Freedom Watch Installation Guide �I MTI 

Step-by-Step Instructions: 

STEP 10

Fasten right-side screw.

STEP 14

STEP 11 
Quick check:

1) Make sure right-side screw does not press or
dig into the cable.

2) Plug cable into charging port to confirm
charging connection is secure and working.

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C

Using 6-32 screws slipped into mounting tabs, 
install "pills" with the dimples facing up. 

STEP 13
Insert riser into slot. Tighten the mounting 
screws. The metal "pills" will rotate into place 
to allow them to engage with the fixture. 

Plug inductive charger into power brick. Power brick 
will be plugged into nearby outlet.

STEP 12



Freedom Watch Installation Guide 
(Entertainment Mount) 

l'I MTI 

Step-by-Step Instructions: 

STEP 01 

Baseplate next to bottom side of riser post. 

STEP 03 

Attach through hole adapter to underside of 
baseplate with notch in adapter facing towards 
the cable routing channel in the post. 

STEP 02 

Attach baseplate to riser with four M4 screws with 
MTI Retail tool. Be sure screws are tight. 

STEP 04 

Install watch inductive charger into riser. Start by 
inserting through hole in back of riser. 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C 

* For merchandising a new watch with new brackets
on an existing position, start at Step 4.



Freedom Watch Installation Guide �I MTI 

Step-by-Step Instructions: 

STEP 05 

Feed Inductive charger through one side of the 
cross bracket. Do not remove liner from VHB pad. 
Charger will float underneith the watch.

STEP 07 
Install watch brackets. They will interlock with 
each other. Route the cable upwards, keeping it 
between the two brackets. 

STEP 09 

Look inside the riser and ensure cable is routed 
away from right-side screw hole to prevent cable 
damage when screw is inserted.

STEP 06 

Connect charging cable in correct orientation to 
watch. 

STEP 08 
Install bracketed watch onto the stand and use 
the MTI tool to fasten the left-side screw. 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C



Freedom Watch Installation Guide �I MTI 

Step-by-Step Instructions: 

STEP 10

Fasten right-side screw.

STEP 12

STEP 14

STEP 11
Quick check:

1) Make sure right-side screw does not press or
dig into the cable.

2) Plug cable into charging port to confirm
charging connection is secure and working.

STEP 13

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C

Using 6-32 screws slipped into mounting tabs, 
install "pills" with the dimples facing up. 

Insert riser into slot. Tighten the mounting 
screws. The metal "pills" will rotate into place 
to allow them to engage with the fixture. 

Plug inductive charger into power brick. Power brick 
will be plugged into nearby outlet.



Freedom Watch Installation Guide 
(Slot Mount) 

l'I MTI 

Step-by-Step Instructions: 

STEP 01 

Baseplate next to bottom side of riser post. 

STEP 03 

Install watch inductive charger into riser. Start by 
inserting through hole in back of riser. 

STEP 02 
Attach baseplate to riser with four M4 screws with 
MTI Retail tool. Be sure screws are tight. Slot in 
baseplate should face towards back of riser. 

STEP 04 

Feed Inductive charger through one side of the 
cross bracket. Do not remove liner from VHB 
pad. Charger will float underneith the watch. 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C

* For merchandising a new watch with new brackets
on an existing position, start at Step 4.



Freedom Watch Installation Guide �I MTI 

Step-by-Step Instructions: 

STEP 05 

Feed Inductive charger through one side of the 
cross bracket. Do not remove liner from VHB pad. 
Charger will float underneith the watch.

STEP 07 

Install watch brackets. They will interlock with 
each other. Route the cable upwards, keeping it 
between the two brackets. 

STEP 09 

Look inside the riser and ensure cable is routed 
away from right-side screw hole to prevent cable 
damage when screw is inserted.

STEP 06 

Connect charging cable in correct orientation to 
watch. 

STEP 08 
Install bracketed watch onto the stand and use 
the MTI tool to fasten the left-side screw. 

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C



Freedom Watch Installation Guide �I MTI 

Step-by-Step Instructions: 

STEP 10

Fasten right-side screw.

STEP 14

STEP 11
Quick check:

1) Make sure right-side screw does not press or
dig into the cable.

2) Plug cable into charging port to confirm
charging connection is secure and working.

STEP 13

� MT! CONFIDENTIAL PART NUMBER: M0559 REV-C

Using 6-32 screws slipped into mounting tabs, 
install "pills" with the dimples facing up. 

Insert riser into slot. Tighten the mounting 
screws. The metal "pills" will rotate into place 
to allow them to engage with the fixture. 

Plug inductive charger into power brick. Power brick 
will be plugged into nearby outlet.

STEP 12 




